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by # 76, 755 171,932 80, 735 91,197 -175 -205 30
H = i 20, 381 45, 306 20, 695 24,611 -70 -67 -3
+ = Fr 578 1,315 619 696 -7 -4 -3
4SBAF—TH 255 626 271 349 -4 0 -4
SBF_-TH 160 353 157 196 1 0 1
SBEFE=TH 257 561 247 314 -3 -1 -2
%EAEFEMTAH 375 847 403 444 -2 -2 0
SBEFERTH 229 584 257 327 -1 -2 1
HEBAEARTH 465 973 416 557 -3 -2 -1
B = 1,195 2,744 1,269 1,475 3 -5 8
i —TH 288 683 326 357 0 2 -2
[ric i | ol = 143 375 170 205 -4 0 -4
£/ TF—TH 465 1,039 445 594 -4 -2 -2
£/ TF_-TH 160 364 168 196 3 0 3
£/ T=TH 237 510 234 276 -7 -3 -4
£/ THUTH 343 710 323 387 3 0 3
£/ THETH 36 77 35 42 -1 -1 0
£ / T 25 51 21 30 0 0 0
RABR—TH 212 392 153 239 -2 0 -2
BARZTH 162 374 172 202 -6 -2 -4
RAB=TH 125 298 142 156 -1 -1 0
BRAASWMTH 270 582 260 322 -3 -2 -1
INET—TH 163 313 143 170 1 0 1
INETZTH 481 1,104 510 594 -2 -1 -1
INET=TH 221 467 207 260 1 -1 2
KET—TH 433 838 367 471 4 0 4
KETZTH 538 1,180 531 649 3 -1 4
KET=TH 386 842 384 458 -4 -2 -2
KETETH 368 891 405 486 -1 -2 1
KETRETH 286 659 323 336 2 -2 4
KET/RTH 199 512 245 267 -2 0 -2
KET£TH 84 214 94 120 0 0 0
MKRE—TH 444 1, 001 458 543 -2 -3 1
MARE_TH 468 1,001 466 535 -1 -2 -5
MARE=TH 708 1,553 734 819 1 -2 3
MARERTH 285 635 297 338 -2 -1 -1
MARERETH 629 1,350 653 697 4 -1 5
MARENRTH 459 1,033 488 545 -5 -1 -4
R HE—TH 515 1,003 460 543 3 0 3
HLEAHEZTH 875 1,787 810 977 -7 -3 -4
R AHE=TH 423 866 392 474 -3 1 -4
AL AHEMTH 396 923 422 501 2 -1 3
fion Bk HT 535 1, 091 473 618 -5 -1 -4
# B 353 863 398 465 -5 -5 0
EBI—TH 401 992 470 522 0 0 0]
EBIZTH 278 674 312 362 -1 -1 0
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EA—TH 339 760 345 415 2 -1 3
EAZTH 805 1,662 768 894 -5 -1 -4
A=TH 157 381 176 205 -3 -2 -1
KAMTH 127 236 107 129 1 0 1
RKA&ATH 368 894 448 446 2 1 1
kR / T 515 1, 201 491 710 -15 -4 -11
WBEF—TH 292 604 281 323 8 -1 9
WBEREZTH 241 559 248 311 0 0 0
WEF=TH 158 347 160 187 -2 -1 -1
WEFMOTH 101 225 101 124 -1 0 -1
WA AH®—TH 227 435 201 234 1 -1 2
WMAAHBE=TH 185 391 177 214 3 0 3
WAAHB=TH 211 551 232 319 1 0 1
WA HEmTAE 156 411 168 243 -1 0 -1
WAAHBATH 591 1,399 656 743 2 -3 5
& # i 10, 227 23, 745 11,105 12, 640 -18 -40 22
E#—TH 417 1,233 563 670 -15 -4 -11
E#—=—TH 494 1,097 521 576 3 0 3
E#=TH 747 1,543 719 824 1 -6 7
E#m T B 352 760 365 395 -2 -2 0
EHAETH 418 9717 476 501 3 -3 6
E o - F 2,434 5, 656 2,644 3,012 15 -6 21
mHE—TH 484 1,085 504 581 -2 -2 0
mHE_TH 414 1, 001 469 532 -4 -2 -2
mAHAE=TH 278 655 309 346 0 -2 2
mHEmTH 442 1,013 485 528 0 -1 1
tEHEE—TH 1 28 13 15 0 0 0
tEBHER=-TH 466 1,067 490 577 -4 -2 -2
tBHER=TH 483 1,152 520 632 -1 -1 0
tEBHERMNTH 504 1,161 533 628 -1 -3 2
tEBHERERTH 264 637 304 333 -5 -1 -4
EmE—TH 755 1, 840 847 993 8 -1 9
EBR_-TH 447 1,013 471 542 -4 -3 -1
tEBHE—TH 438 957 461 496 0 -1 1
tBAHEZTH 379 870 411 459 -10 0 -10
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ZEOR O 14, 664 33, 740 15, 909 17, 831 -48 -45 -3
#E—TH 355 728 343 385 4 -1 5
EBERZ-ZTH 860 2,140 1,015 1,125 -9 0 -9
RBRE=TH 578 1,376 615 761 7 0 7
w#EREMTH 300 621 268 353 -4 -2 -2
EBEREATH 390 766 365 401 -2 -1 -1
L R 208 436 218 218 0 0 0
FH—TH 478 1,025 502 523 3 -2 5
FH5-TH 504 1,114 498 616 -4 -4 0
E*H5=TH 389 1,009 442 567 -3 -7 4
F o 251 476 214 262 -12 0 -12
0] W3 2,491 5, 546 2,697 2,849 -2 -11 9
£ B B 827 1,920 888 1,032 -13 -3 -10
FL—TH 281 671 313 358 2 -2 4
FIRZTH 484 1,199 553 646 2 -1 3
FIL=TH 336 834 415 419 1 0 1
FIEMTH 585 1, 431 701 730 5 1 4
FIRATH 361 796 401 395 -3 2 -5
FILATH 93 203 101 102 -1 0 -1
F i 42 91 36 55 0 0 0]
HH—TH 190 435 214 221 -5 -3 -2
HH_-TH 393 958 450 508 -6 -1 -5
HH=TH 862 1,976 955 1,021 -13 0 -13
HHMOTH 345 812 401 411 1 0 1
HHATH 602 1,515 715 800 -5 -3 -2
HHANTH 183 449 207 242 -1 0 -1
5] H 0 0 0 0 0 0 0
" g 1, 405 3,159 1, 430 1,729 2 -7 9
#EL—TH 217 516 241 275 0 0 0]
#HeEL=—TH 240 556 254 302 -1 0 -1
HEIL=TH 279 626 296 330 4 0 4
#ELmTH 135 356 161 195 5 0 5
R M # i 20, 940 44, 547 21,396 23,151 -23 -26 3
W / RN 1,738 3,670 1,740 1,930 -5 -4 -1
&5ZTH 834 1,437 714 723 4 -4 8
£=TH 710 1,493 697 796 -1 -3 2
£EMWTH 771 1,633 791 842 2 -3 5
E£RTH 1,153 2,724 1, 345 1,379 -5 -1 -4
= 936 2,060 975 1,085 -11 -3 -8
INEAR—TH 617 1, 061 557 504 -5 2 -7
INSAZTH 1,121 2,314 1,121 1,193 -3 0 -3
N B B 43 89 51 38 0 0 0
Ki—TH 336 537 258 279 -3 0 -3
KM=ZTH 1,027 1,726 858 868 -10 0 -10
AKM=TH 624 1,153 542 611 -2 0 -2
AKWRmETH 750 1,589 763 826 0 -1 1
KWATH 947 1,979 897 1,082 2 1 1
RKMATH 578 1,130 548 582 6 0 6
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X e 1,395 3,197 1,567 1,630 7 -4 11
=] 52 327 897 413 484 -7 0 -7
=#—TH 2,207 4,996 2,410 2,586 13 7 6
= F) 2,034 4, 352 2,124 2,228 -8 -3 -5
SR—TH 188 472 213 259 -5 -1 -4
SR”-TH 341 885 410 475 1 -1 2
SR=TH 252 571 286 291 -1 -1 0
SRMOTH X X X X X X X
SRETH X X X X X X X
SRE—TH 308 739 341 398 4 0 4
SREZTH 190 451 218 233 0 0 0
SRE=TH 244 532 244 288 -3 -1 -2
SREMTH 425 965 445 520 4 -1 5
SRERTH 160 377 174 203 2 0 2
SREBENATH 330 726 337 389 -2 -2 0
SRELETH 354 786 357 429 3 -3 6
EF & #h = 10, 543 24,594 11, 630 12, 964 -16 =217 11
5£—T8H 446 793 392 401 -6 1 -7
EA—TH 694 1,383 656 127 2 1 1
BAA=TH 753 1,477 701 776 -11 -2 -9
] PN 1,815 4,372 2,000 2,372 5 -3 8
E#—TH 674 1, 391 671 720 2 3 -1
E#8_-TH 720 1,676 804 872 1 -1 12
E#=TH 241 571 289 282 -1 0 -1
EF#EMUTH 250 617 286 331 2 0 2
E#®ATH 451 1,120 539 581 -3 -3 0
& X 2,207 5,157 2,463 2,694 -8 -8 0
1774 | 1,483 3,766 1,777 1,989 -10 -10 0
B =® 809 2,271 1,052 1,219 1 -5 6
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